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K FE E o M JH KN R
# M H A OEOJE | R FEOE = ¥oE MK
— B
[ IR 32 HH 4 5 * D
2 %gma&% 15,200 15,502 A302 8,891 3,306 3,003
) 832 310 281
8,059 2,996 2,722
3 HERIHEES 225 225 0 132 49 44
L
132 49 44

(B - FH)
i
B |
X JAN %:E
HE S MA R4 30
27 Nty 9
kG 9
1 il 35 | 8044 FMAFER XIEFHEICET HRE 1,423
2 Bk 6,974 (WEWVWEREHH
3 ETYE 4,383 | 1 B 35
MR AL FE SR o & —EE Wik 2 B 35
44 F % 2,420
9 St 40
9 Jift # 40 eIk 40
1% H % 97 | 11 FEHE 97
HEEME 95
% B % 325 i 2
18 fifidn i A 918 | 12 % &% 325
- Eankt 250
27 N W O# 8 Tk 9
EEuE:K N 66
18 i hhfiE A E 918
EEIEN PN =g 918
27 Nty 8
HEh s E B 8
8053 WENI X IRFENMGE 13,777
(B
2 akk 6,974
=P 6,974
I WBETYE 4,383
BTy 330
W TY 48
REIA 0% T4 1,000
HETY 1,746
BT 966
Hitak 24 293
4 gy 2,420
=Bt R S E AR 2,390
AR EMELSARE 30
8 W E & 200 | 8045 HEFIHEEFEIZE T HRE 225
1% H % 12 (WEWNWXREFR)
14 R OVE B 3| 8 W{EHE 200
. FEEm R4 200
19 A& O 4 10

11 T 12
HEEME 10
R 2
14 AR OVE AR 3
T B4 sk 3
19 ARSI K OAZ 4 10
WHE SN 4 10
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GF) 3 MR 92,056 T-H
(18) 2 AFEWIIREE - MEHER
A FE E o MO N R
* I H A CAEOFE | AT EOE = ¥oE MK
— W AR
[ R 3% 4 HoJ7 & Z o i
4 GG - ik 70 127 A57 41 15 14
ey or 7~
EE A
B> 41 15 14
5 (LEHEE 27,227 26,142 1,085 15,530 6,455 5,242
15,530 6,455 5,242
) 4 FLAEFEN A 1 M
(18) 1 AR 4E
A E E o M FE AN R
& | H K AE E Bl AEJE o #k ¥oOoE M R
— e AR
= R 32 4 o7 g F O i
4  FEERENIA 1 1 0 1
1 AR 4E 1 1 0 1
1 Jrafafs g 1 1 0 1
Y 2 AT
LA 1
(I RERBREERI T
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i
B |
X 4y & F
8 W E & 60 | 8046 CIFEAY « MkGEHY 7 T~ U A L D HIBF I E Y

LR 70

1% H % 10
(WEWNWEREFHIR)
8 MfE#: 60
FERN 4 60
11 FH#E 10
HEEE 10
8 % E # 490 | 8047 [LEFXEICET HRE 27,227
nE A % 360 (WEWVWEREHH
% B % 377 | 8 WE% 490
FEAN 4 150
13 % 7t F 9,780 FRrSNITIEAY 100
— R 4 240

14 AR R OVE R 20
11 T 360
20 £k B # 16,200 VHFESL B 280
IR S A2y 80
12 %G 377
EEC R 10
FHoE 367
13 Z5EE B 9,780
FIEN SRR 250
ZLAETE SR — B A R ETGOR} 5,292
i 2N 350
HIRE LR Y — B R A SFRREE 3,888
14 5 IR OVE R} 20
7 % B 20
20 #kBh#r 16,200
BT ST 16,200
(BA7 - TH)

i
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25 & & 1| 8034 Jrilfnft B el L AAE 4 1
(BRI
25 FE 4 1
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(#) 5 #EXH&

1,264 T

(B - FH)
i
B |
X JAN %:E
23 fEIZF1 K OVE5 [k 1,200 | 8036 2 1 BRI PRIRERR (T4 1,200
(BRI
23 fEEAF]F KOS B 1,200
IR £ 4 1,200
23 [EBEH| T L OE5 |k 3| 8037 WiE4 3
(Ui RIaR)
23 EEER|T K OV kL 3
EiEA () 1
BGaE4 (R) 1
BGR4E (FOfh) 1
23 fEIEART K OIS Dk 60 | 8038 ZF 1 B¢ iRk =T NH 4 60
(BRI
23 EBEER| 1 L OE5 |k 60
EAINE 4 60
28 # & 1| 8039 — ¥Rt 4& 1
(Ui RIR)
28 e 1
— R4 1
(B - FH)
i
B |
X o #
29 7 W & 10,000 | 8040 1% 10,000
(it RIR)
29 Tt 10,000
DidiE=¢ 10,000

(1) 1 BB K ONRMIINE 4
A E E o B OFH AN R
# W H A CAEOFE | AT EOE = 3 ¥ooE MR ]
— W AR
= B 4 HoJ7 & Z D
5 FEXté 1,264 1,026 238 1,264
1 EEEKED 1,263 1,025 238 1,263
BN 4
1 %1 5k 1,200 1,000 200 1,200
% PRI
B 1,200
2 18 & & 3 3 0 3
3
3 %1 By 60 22 38 60
[GEBELNYII
e 60
2 M & 1 1 0 1
1 — R FHE 1 1 0 1
Hi4:
1
9 6 T f§ & 10,000 TH
(18) 1 T e &
A E E o B OFH AN R
# W H A CAEOFE | AT EOE = 3 E M R ]
— WA IR
= R 4 o7 g Z D
6 T IF & 10,000 10,000 0 10,000
1 T in & 10,000 10,000 0 10,000
17 i & 10,000 10,000 0 10,000
10,000
(I RERBREERI T
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(BAz )

K EE o MO AN R i
HOOH A OFE K | AT FOE A FroE® MW i N Bl B
— R X 5 &

] W 32 H 4 H 5 R z O i

% A 6,219,728 5,838,460 381,268 2,297,160 2,966,439 956,129
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1 — Rk

(1) #ats
. i 5. % . .
=i — s AN
s | R T H | WATS = Sk 5 @ -
(N) (+mM) (+mM) (+mM) (FM) (FM) (FM)
AR AR B 13 46,642 28,878 75,520 16,125 91,645
Al A 13 49,148 27,754 76,902 16,359 93,261
AL A 2,506 1,124 A 1,382 A 234 A 1,616
T Peag | mE) (FRRIAN BB WK | B | ik | FE
= =~ FY | PY | HE | PY | PYE | PY | By | Y
= X 43
Ed FY
B FM| FMf FMD] FMD) FF)) Fm) FM)f FD
DIk # JE[ 2,106 691] 3,900 619 11,765 6,525 1,976 1,296
gﬁﬁ B 1,620 452 3,600 1,518] 12,196 6,151 1,569 648
. th $§ 486 239 3001 A 899 A 431 374 407 648
(2) Fekk M OV B T 24 O HE IR D Bl
HAJRE HE Ok B BN R N
YAN z E
x5 (Fm) (Fm) L e
Fok A 2,506 %5 5- BN FED BER oy 305|# Bk Ic L A1
A HE N sy 659 F-AaiIC LD
DD EE Sy A 3,470|F8% B o> BB S L AR
e TY 1,124l BE S A RED HE R 4y 98844 Htk o L AHY Hhisk 24 429
B TY 559
OO By 136 F-4aickam BEFY 486
Wik B oo BBV I IO | @B Ty 239
T M AADOAS B D R R R A s 24 300
BNk A 899
HIERTY A 431
B TY A 185
it 724 A 22
EETFY 648

—476—




(3) AL O B T4 DRI

7 B IASZGE

X 5y — AT B
SRR H (M) 324,389
SERTHELALR [R5 A E() 411,469
HIE[E % F & (%) 438% 2.8
SR kA A () 311,220
264118 [TEWHRE H &) 369,766
BUE[E % 4 I (%) 4435 9 H
A4 IUEAS
o [E] D) &
X 45 #lm/ — o
ES HEEAT Bk (1) T )
i AR e 142,100 142,100
K ¥ % 174,200 174,200
7 RRBIER B K _ _
— A T B &Rt
X5y @ Tk B 5 | # Ak bt @ Tk S5 | iRk b
UN) (%) N (%)
7 7
6 2 16.7 6 2 16.7
I,Z
oS 5 5 41.7 5 5 41.7
27
? 4 1 8.3 4 1 8.3
A
3 3
A
g7 2 25. 2 25.
x 3 5.0 3 5.0
1 1 8.3 1 1 8.3
= 12 100 3 12 100
7 7
6 4 30.8 6 4 30.8
I,Z
o 5 4 30.8 5 4 30.8
26
? 4 1 7.7 4 1 7.7
A
3 3
A
g7 2 23. 2 23.
x 3 3.0 3 3.0
1 1 7.7 1 1 7.7
&t 13 100 3 13 100
GER B! D REAE 72 k25 PN X))
E) 7% 6%k 5% A%k 3tk 2% 1k
—fEATE | mEemE | sE-RE R % E T FIEE - i
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SR
s st REH 72 IR
— AT B
ik 5 2 (A) ON, 13 11
FARITIR DI B 5 (B) ON, 11 9
25 (N)
4515 ON, 9 8
A ) 55 (N)
53 i GlEER
655 (N)
1548 (N)
3#h (N) 2 1
k= (B)/(A) (%) 84.6 81.8
gk B %% A) ON) 13 13
FARITIR DI B H B) (N 9 9
25 (N
45 %a ON) 6 6
T 55 ON) 2 2
ARG EUI AR
6545 (N
1546 (N
3ih (N) 1 1
= (B)/(A) (%) 69.2 69.2
HIRFY - BHFY
5y CHIMREitons RRLLOII BED 1 s
6H(A%) | 12A(H%)
A 1.975 2.125 4.10 el
T 1.90 2.05 3.95 el
[l il £ 1.975 2.125 4.10 el
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77 TEA IR OV SE IR 2 AR 5 18 0% T2

B Zoﬁﬁj‘g”j 25@??%? 35@%;;“”,;%; Wﬁ]ﬁfi) romonEEs | e
ThnE | 25.55625 | 34.5825 49.59 49.59 (2% ~20% JI15)
il TEAF I A IR AR 15 5 1
(k) 25.55625 | 34.5825 49.59 49.59 (2% ~45% JI15)
X M Ty
SN S N
* el ES (%) 4.0
% Rt B 8 % (N 13
EOfEE RS K EE (%) 4.0
7 ZDOMOFY

X455 [E] D | B & D F [ EZEONE
A Y 7]
FETY [F]
W) TY 7]




